Fine Lock Cylinder
Double Acting, Single Rod

Series CLAZ2

240, 250, 63, 80, 100

How to Order

L IS0L FH00INIEL,
L 150 -[100[JN|-[E]-MOBWI -

1
With auto switch 0——‘— l _I
(Built-in magnet) Mounting Auto switche———
B Basic C Single clevis Port thread [ Nil [ without auto switch | Made to Order
L Axial foot D Double clevis type * For applicable auto switches, For details, refer to page 2
F Rod flange T | Center trunnion Nil Re refer to the table below.
G | Head flange Tube material TN | NPT Lock operation lNumber_of
Nil Aluminum tube $Bore size E |Spring locking (Exhaust locking) auto switches
F* Steel tube T 70 P Pneqmatic locking (Press.ure Iock.ing) Nil | 2 pcs.
H Air-hydro type &6 50 mm D | Spring and pneumatic locking S i 1” pc.
* Not available with auto switch. 63| 63 mm & With rod boot/cushion n n”_pcs.
Built-in Magnet Cylinder Model 80| 80mm Nil Without rod boot
If a built-in magnet cylinder without an auto 100/ 100 mm Rod boot J Nylon tarpaulin
switch is required, there is no need to enter i K |Heat resistant tarpaulin
the symbol for the auto switch. Cylmde,r stroke [mm]e ) Nil | With cushion on both sides| .. air-hydiro type h
For details, refer to page 2. Cushion - - Ir-nydro type has
(Example) CDLA2L40-100-E N Without cushion no cushion.

Applicable Auto Switches/Refer to the Best Pneumatics No. 3 for further information on auto switches.

; s g Electrical g» Wiring Load voltage Auto switch model |Lead wire length [m] Pre-wired Aoolcable load
e ecial function 2 Tie-rod Band 05 | 1|35 icable loa
P P entry b= (S B HE mounting | mounting | (Nil) |(M)| (L) | (Z2) connector| "*°
) M9N — ® (/0 O O
Fure (P 5V,12V — i ® | —1010 O I
Grommet 3-wire (PNP) | 24V Y — L — o ® 0,0 o
_ — G5P ® —|e O @)
) M9B — ® o/ e O O
. 2-wire 12V — K59 ° —_elo o) .
s Terminal 3-wire (NPN) 12V G39C G39 — | === —
z conduit 2-wire K39C K39 — | === —
o ) MINW — ® (/0 O @)
‘é Ves S-wire (NPN) 5V 12V — G59W ® —|e|O O |ICcircuit| Relay,
% Diagnostic indication 3-wire (PNP) ' M9PW — ® (/6 O O PLC
o (2-color indication) — G5PW ® —|/®@|O O
-] ) M9BW — ® /e O O
g Srommat 2-wire 24V 12V — — K59W ° _leloO o)
3-wire (NPN) 5V 12V MINA** — O |O|®@]|O O .
Water resistant 3-wire (PNP) ’ MOPA** — O |[0O|]@]|O O
(2-color indication) owire 12V M9BA** — O |[O|®@]|O @]
— G5BA** | — |— | @] O )
With diagnostic output (2-color indication) 4-wire (NPN) 5V, 12V F59F G59F ® —|@®|O ) IC circuit
Magnetic field resistant (2-color indication) 2-wire (Non-polar) — P3DWA = — | —|®e|e O —
Ves 3-wire (NPN equivalent)]  — 5V — A96 — ® |—| 0| — — |ICcircuit] —
£ |l 100 V A93 — ® — |0 — — —
-‘;’ Grommet |No| 100Vorless) A90 = o |—| 0| — — |IC circuit Relay
2 _ |Yes| 100V,200V| A54 B54 e —|o 0 — PLC.
5 No owire Y 12V |200Vorless) A64 B64 o — |0 — —
g Terminal — A33g A33 — | === — . oG
] conduit A34 A34 — |—|—|— —
T DIN terminal|' ° 100V, 200V A 420 Ad4 — === = Relay,
Diagnostic indication (2-color indication) | Grommet — — A59W B59W o |—| 0| — — PLC

=+ \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please contact SMC regarding water resistant types with the above model numbers.

* Lead wire length symbols: 0.5 m---ceeeeeeeeeeee Nil (Example) MONW + Solid state auto switches marked with “O” are produced upon receipt of order.
im. -« M (Example) MONWM
3m- - L (Example) MONWL
5meeeeens Z (Example) MONWZ

* Since there are other applicable auto switches than listed above, refer to page 23 for details.
+ For details about auto switches with pre-wired connector, refer to the Best Pneumatics No. 3. For the D-P3DWAL, refer to the WEB catalog.
* The D-A90/MOOIOITI/P3DWAL auto switches are shipped together, (but not assembled). (However, auto switch mounting brackets are assembled for the D-A9C)/M9TTICI before shipment.)

.1

INFORMATION 2022-3



Series CLA2

Specifications
Provided with a compact lock mechanism, Bore size [mm] 40 [ 50 [ 63 [ 80 [100] 40 [ 50 | 63 [ 80 [100
it is suitable for intermediate stop, Type Non-lube Air-hydro
emergency StOp, and dI'Op prevention. Fluid Air Turbine oil (Lock portion is air)
Action Double acting
Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa
Minimum operating pressure 0.08 MPa 0.2 MPa
Piston speed 50 to 500 mm/sec* 15 to 300 mm/sec*
Without auto switch: —10°C to 70°C
Ambient and fluid temperature | With auto switch: -10°C to 60°C 5°C to 60°C
(No freezing)
Cushion Air cushion None
Ma%e tro Stroke length tolerance Up to 250: *3°, 251 to 1000: **#, 1001 to 1500: *3®
e
or Made to Order Mounting Basic, Axial foot, Rod flapge, Head flang_e, Single clevis,
Double clevis, Center trunnion
Symbol Specifications * Constraints associated with the allowable kinetic energy are imposed on the speeds at which the piston
-XAD |Change of rod end shape can be locked.

-XC3 [Special port location
-XC6 |Piston rod and rod end nut made of stainless steel
-XC11 |Dual stroke cylinder/Single rod type

Lock Specifications

-XC14 | Change of trunnion bracket mounting position ! Spring locking Spring and Pneumatic locking
Lock operation ) ; . .
-XC15 | Change of tie-rod length (Exhaust locking) | pneumatic locking | (Pressure locking)
-XC22 | Fluororubber seal Unlocking pressure  [MPa] 0.3 or more 0.1 or more
-XC35 | With coil scraper Lock starting pressure [MPa] 0.25 or less 0.05 or more
Maximum operating pressure [MPa] 1.0 0.5
/\ Caution Locking direction Both directions

] Recommended Pneumatic Circuit/Caution on Handling \

e |

1 For detailed specifications mentioned above, 1

Standard Strokes

1 refer to "Specific Product Precautions 3". 1
- ] Bore size [mm] Standard stroke [mm] Note 1) Long stroke [mm)] Note 2)
25, 50, 75, 100, 125, 150, 175, 200, 250
Retfer to_tpz;ges 18 to 28 for cylinders with 40 300, 350, 400, 450, 500 800
auto switches.
50. 63 25, 50, 75, 100, 125, 150, 175, 200, 250 1200
* Minimum stroke for auto switch mounting ’ 300, 350, 400, 450, 500, 600
¢ Auto switch proper mounting position 80. 100 25, 50, 75, 100, 125, 150, 175, 200, 250 @80: 1400
(detection at stroke end) and its mounting ’ 300, 350, 400, 450, 500, 600, 700 2100: 1500
height Note 1) Intermediate strokes not listed above are produced upon receipt of order.
« Operating range Spacers are not used for intermediate strokes.
. . Note 2) Long strokes are applicable for the axial foot and rod flange types.
* Auto switch mounting brackets/Part no.
Minimum Stroke for Rod Boot Material
Auto Switch Mounting Symbol|  Rod boot material | Max. ambient temperature
J Nylon tarpaulin 70°C
A Caution K |Heat resistant tarpaulin 110°C*
1. The minimum stroke for mounting varies * Maximum ambient temperature for the rod boot
with the auto switch type and cylinder
mounting type. In particular, the center
trunnion type needs careful attention.
(For details, refer to pages 20 and 21.)
Accessories
Mounting Basic Axial foot Rod flange | Head flange | Single clevis | Double clevis tg;?:;:]
Rod end nut [ J ([ J (] [ [ [ [
Standard —
Clevis pin — — — — — [ J —
Single knuckle joint [ J [ J ([ [ J [ [ ] [
Option Double knuckle joint (with pin) o [ J ([ J [ J [ J [ J [ J
With rod boot [ J [ J ([ [ J [ J [ J [

®2
INFORMATION 2022-3



Fine Lock Cylinder: Double Acting, Single Rod Series CLA2

Weights kg]
Bore size [mm] 40 50 63 80 | 100
Basi Aluminum tube | 1.77 | 2.68 | 4.27 | 6.95 | 9.86
asic
Steel tube 182 | 272 | 431 | 7.11 | 10.07
Aluminum tube | 1.96 | 2.90 | 4.61 | 7.62 | 10.85
Axial foot
Steel tube 201 | 294 | 465 | 7.78 | 11.06
Aluminum tube | 2.14 | 3.13 | 5.06 | 8.40 | 11.78
Flange
o Steeltube | 2.19 | 3.17 | 5.10 | 8.56 | 11.99
Basic weight -
Aluminum tube | 2.00 | 3.02 | 4.90 | 8.06 | 11.64
Single clevis
Steel tube 2.05 | 3.06 | 494 | 822 |11.85
Aluminum tube | 2.04 | 3.11 | 5.06 | 8.35 | 12.16
Double clevis
Steel tube 2.09 | 3.15 | 510 | 8.51 |12.37
. Aluminum tube | 2.22 | 3.21 | 5.16 | 8.65 | 12.26
Center trunnion
Steel tube 232 | 3.31 | 5.36 | 8.94 | 12.65
Additional weight per All mounting Aluminum tube | 0.20 | 0.25 | 0.31 | 0.46 | 0.58
50 mm of stroke brackets Steeltube | 0.28 | 0.35 | 0.43 | 0.70 | 0.87
. Single knuckle 0.23 | 0.26 | 0.26 | 0.60 | 0.83
Accessories
Double knuckle (with pin) 0.37 | 043 | 043 | 0.87 | 1.27
Calculation: (Example) CLA2L40-100-E Basic weight:----«----e---- 1.96 (Axial foot, 340)
Additional weight---------0.20/50 stroke
Cylinder stroke-««+-«+--- 100 stroke
1.96 + 0.20 x 100/50 = 2.36 kg
Mounting Brackets/Part No.
Bore size [mm] 40 63 100
Axial foot™ CA2-L04 | CA2-LO5 | CA2-L06 | CA2-L08 | CA2-L10
Flange CA2-FO4 | CA2-FO5 | CA2-F06 | CA2-FO8 | CA2-F10
Single clevis CA2-C04 | CA2-C05 | CA2-C0o6 | CA2-C08 | CA2-C10
Double clevis™* CA2-D04 | CA2-D0O5 | CA2-D06 | CA2-D08 | CA2-D10

* When axial foot brackets are used, order two pieces per cylinder.
=% A clevis pin, flat washers and split pins are shipped together with double clevis.

3

INFORMATION 2022-3



Series CLA2

ACaution/Maximum load when Locking

Allowable kinetic energy when in a locked state

Bore size [mm] 40 50 63 80 100

Allowable kinetic energy [J] 142 | 2.21 353 | 569 | 8.83

—_

N

. In terms of specific load conditions, the allowable kinetic energy indicat-

ed in the table above is equivalent to a 50% load ratio at 0.5 MPa, and
a piston speed of 300 mm/s. Therefore, if the operating conditions are
below these values, calculations are unnecessary.

. Apply the following formula to obtain the kinetic energy of the load.

Ek: Kinetic energy of load [J]
m : Load mass [kg]
"V : Piston speed [m/s]

1

Ek:; mv?

. The piston speed will exceed the average speed immediately before

locking. To determine the piston speed for the purpose of obtaining the
kinetic energy of load, use 1.2 times the average speed as a guide.

. The relationship between the speed and the load is indicated in the dia-

gram below. The area under the line is the allowable operating range.

5. Even if the product is operated within the allowable kinetic energy,
there is an upper limit to the size of load that can be sustained. Thus, a
horizontally mounted cylinder must be operated below the solid line,
and a vertically mounted cylinder must be operated below the dotted
line.

6. The graph below is based on use at the intermediate stop (including
emergency stops during operation). However, when the cylinder is in a
locked state, such as for drop prevention, kinetic energy does not act
upon it. Under these conditions, the max. load mass for a vertically
mounted cylinder is the max. load mass when the piston speed is
50 mm/s.

I I

400
i 2100 * The max. loads are shown below.
L —For horizontal mounting:
r 70% of the spring lock holding
B force or less
L ---For vertical mounting:
+ 35% of the spring lock holding
r force or less

300, Be sure to use within these ranges. ||
L The 70% and 35% correspond to
r the 100% and 50% load ratios
L 280 respectively, in proportion to the

§ B theoretical thrust force of 0.5 MPa.

§ L

S L
100 \ \\

§§
050 100 200 300 200 500
Piston speed [mm/s]
® 4

Stopping Accu racy (Not including tolerance of control system)[mm]

Piston speed [mm/sec]

Locking method
50 100 300 500
Spring locking +0.4 +0.5 +1.0 +2.0
Pneumatic locking 02 | %03 | %05 | 15
Spring and pneumatic locking

Conditions/Load: 25% of output at 0.5 MPa
Solenoid valve: Mounted to the lock port

Holding Force of Spring Locking (Maximum static load)

Bore size [mm]

40

50

63 80 100

Holding force [N]

882

1370

2160 | 3430 | 5390

Note1) Holding force (max. static load) refers to the highest load that can be
statically held without vibrations or impact when no load is applied.
Therefore, it does not refer to loads that can be held regularly.

Check the max. load when in a locked state in the graph on the left.

Note2) Holding force at piston rod retracted side decreases approximately 15%.

Holding Force of Pneumatic Locking

7000 7100
__ 6000 e
k)
2 R 283
% 3000 =
2 2000 // ——— 250 __

1000 /// /___._—-—-" 240

0 S
041 0.2 0.3 0.4 0.5
Air pressure applied to pressurized locking port [MPa]

Note1) Holding force (max. static load) refers to the highest load that can be
statically held without vibrations or impact when no load is applied.
Therefore, it does not refer to loads that can be held regularly.

Check the max. load when in a locked state in the graph on the left.

Note2) Holding force at piston rod retracted side decreases approximately 15%.

Note3) Taking the possibility of air supply cutoff into consideration, pneumatic
locks should not be used for drop prevention.

Holding Force of Spring and Pneumatic Locking

11000 100
[}
10000 /'/
9000 e
8000 //
2 7000 -
[0
S / 280
S 6000 [
o /
£ 5000
<)
T 4000 ] 263
/
L — 350
2000
————— 640
0
01 0.2 0.3 0.4 0.5
Air pressure applied to pressurized locking port [MPa]

Note1) Holding force (max. static load) refers to the highest load that can be
statically held without vibrations or impact when no load is applied.
Therefore, it does not refer to loads that can be held regularly.

Check the max. load when in a locked state in the graph on the left.

Note2) Holding force at piston rod retracted side decreases approximately 15%.

/A Caution

] Caution when Locking

e|f the piston rod slips because the lock’s holding force has been
exceeded, the brake shoe could be damaged, resulting in a reduced
holding force or shortened life.
*Do not use the cylinder in the locked state to sustain a load that involves

impact.

INFORMATION 2022-3



Construction

Non-lube type

Component Parts

Fine Lock Cylinder: Double Acting, Single Rod Series CLA2

@ @d@s

No. Description Material Note No. Description Material Note
1 | Rod cover Aluminum alloy | Metallic painted after hard anodized 42 | Tube gasket NBR
2 | Head cover Aluminum alloy Metallic painted 43 | Cushion valve seal NBR
3 | Cover Aluminum alloy | Metallic painted after hard anodized 44 | Air rel valve Chromium molybdenum steel | Black zinc chromated
4 | Cylinder tube Aluminum alloy Hard anodized 45 | Check ball Chrome bearing steel
5 | Piston rod Carbon steel Hard chrome plating 46 | Rod seal C NBR
6 | Piston Aluminum alloy Chromated
7 | Brake piston Carbon steel Nitriding Replacement Parts: Seal Kit
8 |Brake arm Carbon steel Nitriding Bore size [mm] Kit no. Contents
9 | Arm holder Carbon steel Nitriding 40 MB1-40Z-PS
10 | Brake shoe holder Carbon steel Nitriding 50 MB1-50Z-PS
11 | Brake shoe Special friction material 63 MB1-63Z-PS Set of the nos.3), 37, @), @
12 | Roller Chromium molybdenum steel Nitriding 80 MB1-80Z-PS
13 | Pin Chrome bearing steel Heat treated 100 MB1-100Z-PS
:g :f;i:"snp%i:;g Carg?:etlov(\jilrzteel Anti-corrosive treaiment: Except type P *Since the lock of the CI.‘AZ. series cannot t.)e disass_embled and is
16 | Retaining plate Rolled steal Zinc chrorﬁated normally replacedlas a unit, kits are for the cylinder sephon only. These
17 | Cushion ring Aluminum alioy Anodized can be ordered using the order number for each bore size.
. = Seal kit includes a grease pack (240, 250: 10 g, 263, 280: 20 g, 100: 30 g).
18 Bush!ng Copper alloy Order with the following part number when only the grease pack is
19 | Bushing Copper alloy needed.
20 Cusl?iqn va_lve Stgel wire Electroless nickel plating Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)
21 | Retaining ring Spring steel = Please consult with SMC for seal kits of the air-hydro type.
22 | Tie-rod Carbon steel Zinc chromated
23 | Unit holding tie-rod Carbon steel Chromated Replacement Fine Lock Unit
24 | Non-rotating pin Carbon steel Heat treated
25 | Pin guide Carbon steel Metallic painted after nitriding
26 | Hexagon socket head plug Carbon steel Type E only C LA2 = 40 = E
27 | Element Bronze Type E only : H
28 | Tie-rod nut Rolled steel Bore size L . S.ufflx
29 | Hexagon socket head cap screw | Chromium molybdenum steel 40| 40 mm N!k| Standard
30 | Retaining plate mounting bolt | Chromium molybdenum steel 50| 50 mm L Long stroke
31 | Spring washer Steel wire 63| 63 mm = The lock unit for a long-
32 | Spring washer Steel wire 80| 80 mm stroke cylinder is only
33 | Spring washer Steel wire 100[100 mm applicable for flange type
34 [ Rod end nut Rolled steel with bore size 650 to 6100
35 | Wear ring Resin Port thread type o ?ESaiterI? (1332122&]0;3
36 | Piston seal NBR Nil | Ro port pe:
37 | Rod seal A NBR TN | NPT port ¢ Lock operation
38 | Rod sea.l B NBR ) . E |Spring locking (Exhaust locking)
39 Brake. piston seal NBR * Please consullt with SMQ for P_|Pneumatic locking (Pressure locking)
40 | Cushion seal Urethane replacement fine lock units of - - -
41 | Piston gasket NBR the air-hydro type. D |Spring and pneumatic locking

5@

INFORMATION 2022-3



Series CLA2

Basic: CLA2B

P (Rc, NPT) Rod side cylinder port

BP (Rc, NPT) Unlocking port BQ (Rc, NPT) Locking port for pressurizing
Unlocked when pressurized GA (Plug with breathing hole at exhaust locking)
GC GD

Locking condition indication plate

,/T\\ Plug cap with breathing hole
F (For spring locking)

GR

1]
lGL
o
NN AN
[ 7
s>

i
¥ {
1=

E&

| PG | PL
P (Rc, NPT)
' Head side cylinder port 4xd
Width across flats KA GB PW T
Width across flats B1 2 x Cushion valve m o
MM : r
o I A <A
4 ol R &1 ’ T i o @~
TS — — "%Bf(é
H1 Id C
AL M BN N B
A K
H S + Stroke M
ZZ + Stroke

With rod boot

10.2 ¢ _]f
h+¢
ZZ + ¢ + Stroke

8

ge

[mm]

Bore size Stroke range [mm]
[mm] Without rod boot | With rod boot A |AL| B |[B1 |[BN|BP|(BQ| C | D | E F |[GA|GB|GC|GD|GL |GR | H1 J

40 Upto500|[20to500| 30 | 27 | 60| 22 | 96| 1/4 | 1/4 | 44 | 16 | 32 | 10 | 85| 15 | 26 | 54 | 10 | 10 8 | M8x1.25

50 Upto 600|20to600| 35 | 32 | 70| 27 | 108 | 1/4 | 1/4 | 52 | 20 | 40 | 10 | 95| 17 | 27 | 59 | 13 | 12 | 11 | M8x1.25

63 Upto600|20to600 | 35 | 32 | 86| 27 |115| 1/4 | 1/4 | 64 | 20 | 40 | 10 [102| 17 | 26 | 67 | 18 | 15 | 11 |[M10x1.25

80 Upto750|20to 750 | 40 | 37 [ 102 | 32 |129 | 1/4 | 1/4 | 78 | 25 | 52 | 14 [ 113 | 21 | 30 | 72 | 23 | 17 | 13 [M12x1.75

100 Upto750|20to 750 | 40 | 37 | 116 | 41 [140 | 1/4 | 1/4 | 92 | 30 | 52 | 14 |124| 21 | 31 | 76 | 25 | 19 | 16 |[M12x1.75

Bore size Without rod boot With rod boot
[mm K | KA|[LZ| M MM N P |[PG|PH|PL |PW| S Hlzz| e f h ¢ 77
40 6 | 14 | 71| 11 |[M14x15| 27 | 1/4 |42 11 | 20 | 45 | 153 | 51 | 215 | 43 |11.2| 59 | 1/4 stroke | 223
50 7 |18 | 80| 11 |M18x1.5| 30 | 3/8 | 46 10 | 21 | 50 | 168 | 58 | 237 | 52 |11.2| 66 | 1/4 stroke | 245
63 7 |18 | 99| 14 |M18x1.5| 31 | 3/8 |48.5| 13 | 23 | 60 | 182 | 58 | 254 | 52 |11.2| 66 | 1/4 stroke | 262
80 10 | 22 | 117 | 17 |M22x1.5| 37 | 1/2 |55 15 | 23 | 70 | 208 | 71 | 296 | 65 |[12.5| 80 | 1/4 stroke | 305
100 10 | 26 | 131 | 17 |M26x1.5| 40 | 1/2 |56.5| 15 | 25 | 80 [226 | 72 | 315 | 65 |14 81 | 1/4 stroke | 324
6

INFORMATION 2022-3



Fine Lock Cylinder: Double Acting, Single Rod Series CLA2

Axial Foot: CLA2L

P (Rc, NPT) Rod side cylinder port
Locking condition indication plate  /BQ (Rc, NPT) Locking port for pressurizing
BP (Rc, NPT) Unlocking port GA (Plug with breathing hole at exhaust locking)
Unlocked when pressurized GC GD

(”‘\\ Plug cap with breathing hole
/ /" (For spring locking)
&

= o
- 3 % -
d BN\, ! IE 5 ¥
U e | [
N .|
jfvib A=
PG PL
With rod boot H P (Ro. NPT) 4xJ
Width across flats KA A K Head side cylinder port PW -
Width across flats B1 AL F ) GB o
102 ¢ f Fjizq 2 x Cushion valve ; —r
MM - : q

%) ! ] ] ;} ?-)% L—”
u/af ] of— o R olaly

L
T

4xelD ,56\
I
T ———1Hr 45076
4 BN N ‘ LX ‘
Y| X trok X Y
Z2Z + ¢ + Stroke S + Stroke C
LS + Stroke B
ZZ + Stroke
Long stroke
(Stroke of 1001 mm or more) When the stroke is 1001 mm or longer,
250 to o100 a tie-rod reinforcement ring is attache7
- 5 — |
[+
EERIT & :
A B - —
| |
i RT i

[mm]
Bore size Stroke range [mm]
[mm] Wihout rod boot | With rod boot A | AL B Bi1 |BN |BP (BQ| C D E F |[GA|GB | GC |GD | GL | GR
40 Upto 800|20to 800| 30 27 60 | 22 96 | 1/4 | 1/4 | 44 16 32 10 85| 15 26 54 10 10
50 Up to 1200 | 20 to 1200 | 35 32 70 | 27 108 | 1/4 1/4 52 20 40 10 95 17 27 59 13 12
63 Up to 1200 | 20 to 1200 | 35 32 86 | 27 115 | 1/4 1/4 64 20 40 10 102 17 26 67 18 15
80 Up to 1400 | 20 to 1400 | 40 37 102 | 32 129 | 1/4 1/4 78 25 52 14 113 | 21 30 72 23 17
100 Up to 1500 | 20 to 1500 | 40 37 116 | 41 140 | 1/4 1/4 92 30 52 14 124 | 21 31 76 25 19
Bore size H
[mm 1 J K |KA|LD|LH|LS|LT |LX|LY|LZ MM N P |PG|PH|PL|PW| RT|RY| S | X
40 8 | M8x1.25 6 |14 | 9 40 | 207 | 3.2 | 42 70| 81 |M14x1.5]| 27 | 1/4 |42 11 | 20 | 45 | — | — | 153 | 27
50 11 [M8x125| 7 | 18 | 9 45 | 222 |32 | 50 | 80| 90 |M18x1.5| 30 | 3/8 |46 10 | 21 | 50 | 30 | 76| 168 | 27
63 11 [M10x1.25| 7 | 18 |[11.5| 50 |250 | 3.2 | 59 | 93| 106 |M18x1.5| 31 | 3/8 [48.5| 13 | 23 | 60 | 40 | 92 |182 | 34
80 13 |[M12x1.75| 10 | 22 |13.5| 65 [296 | 4.5 | 76 | 116 | 131 | M22x 1.5 | 37 | 1/2 |55 15 | 23 | 70 | 45 | 112|208 | 44
100 16 [M12x1.75| 10 | 26 |13.5| 75 [ 312 | 6 92 | 133|148 | M26x1.5| 40 | 1/2 |56.5| 15 | 25 | 80 | 50 | 136 | 226 | 43
Bore size Y Without rod boot With rod boot
[mm] H | ZZ | e f h ¢ zz
40 13 51 244 | 43 | 11.2 | 59 1/4 stroke 252
50 13 | 58 | 266 | 52 | 11.2 | 66 1/4 stroke | 274
63 16 | 58 | 290 | 52 | 11.2| 66 1/4 stroke | 298
80 16 71 339 | 65 | 125 | 80 1/4 stroke 348
100 17 | 72 | 358 | 65 | 14.0 | 81 1/4 stroke | 367

7

INFORMATION 2022-3



Series CLA2

Rod Flange: CLA2F

With

BP (Rc, NPT) Unlocking port

Unlocked when pressurized

Locking condition indication plate

rod boot

Width across flats KA

P (Rc, NPT) Rod side cylinder port

BQ (Rc, NPT) Locking port for pressurizing

Head side cylinder port

GA (Plug with breathing hole at exhaust locking)
GC GD (”j\\ Plug cap with breathing hole
\“F ' (For spring locking)

o %

€ o
Wi
5

N = -

=g

P (Rc, NPT)

- Width across flats B1 2 x Cushion valve
8 — Fjﬂ{ r
i MM JEQ» - =
m G
3 - 2l : o1 N
1 H Y = - —
L= 1
AL FT| BN N c
10.2 [4 f B
h+¢ A K
FX
ZZ + ¢ + Stroke H S + Stroke M FZ
ZZ + Stroke
Long stroke P (Rc, NPT)
(Stroke of 1001 mm or more) Head side cylinder port
250 to 2100 2 x Cushion valve
i When the stroke is 1001 | g
With rod boot Width across flats KA 100 e SToKe 'S M or onger GB
) a tie-rod reinforcement ring is attached.
Width across flats B1
o
e w |\ (T g [ 15
TR
8 s . 3 b ® T H@ 0| &
 —
- H1 -
R AL || |[FT BN RT N
— h+¢ A K
| £Z+ €+ Stoke H S + Stroke M
ZZ + Stroke
[mm]
Bore size | Stroke range [mm]
[mm] Wihoutrod boot | With rod boot A |AL| B |B:1 |BFIBN|\BP/BQ| C | D | E |GA|GB|GC|GD|GL |GR| H1 J K |[KA|LZ
40 Upto 800|20to 800| 30 |27 | 60|22 | 71| 96|1/4|1/4| 44 |16 | 32| 85| 15|26 | 54 | 10 | 10 8 | M8x125| 6|14 | 71
50 Up to 100020 to 1000| 35 | 32 | 70| 27 | 81|108|1/4|1/4|52 |20 |40 | 95|17 |27 |59 |13 |12 |11 |M8x1.25| 7 | 18 | 80
63 Up to 1000|20 to 1000| 35 | 32 | 86| 27 |101|115|1/4|1/4| 64 | 20 | 40 [102| 17 | 26 | 67 | 18 | 15 | 11 [M10x1.25| 7 | 18 | 99
80 Up to 1000|20 to 1000| 40 | 37 |102| 32 [119]|129|1/4|1/4| 78 | 25 | 52 |113| 21 | 30 | 72 | 23 | 17 | 13 [M12x1.75| 10 | 22 |117
100 Up to 1000|20 to 1000| 40 | 37 |116| 41 |133|140[1/4|1/4| 92 | 30 | 52 |124| 21 | 31 | 76 |25 | 19 | 16 [M12x 1.75| 10 | 26 |131
Bore size Without rod boot With rod boot
[mm] M MM N | P (PGIPH|PL/PW| S |FV|FD | FT | FX|FY|FZ Hlzz a [e | f h Z 77
40 11 |M14x1.5| 27 |1/4]|42 |11 |20 | 45 |153| 60| 9 | 12| 80| 42 [100| 51 |215]| 52 | 43 |15 59 | 1/4 stroke | 223
50 11 | M18x1.5| 30 (3/8(46 |10 (21 |50 |168| 70| 9 |12 | 90| 50 |110| 58 | 237 | 58 | 52 |15 66 | 1/4 stroke | 245
63 14 |M18x1.5| 31 | 3/8]48.5] 13 | 23 | 60 |182| 86|11.5] 15 [105| 59 [130| 58 | 254 | 58 | 52 |17.5| 66 | 1/4 stroke | 262
80 17 [M22x1.5| 37 |1/2|55 |15 |23 | 70 [208|102|13.5| 18 [130| 76 |[160| 71 | 296 | 80 | 65 |21.5| 80 | 1/4 stroke | 305
100 17 |M26x 1.5 | 40 | 1/2|56.5| 15 | 25 | 80 |226|116|13.5| 18 |150| 92 |180| 72 | 315| 80 | 65 |[21.5| 81 | 1/4 stroke | 324
Long Stroke Dimensions other than below are the same as the table above.
Bore size |Stroke range Without rod boot| ~ With rod boot # When a hole must be made to accommodate
[mm] [mm] ¢ BF | M |RT |RY | FT | FX | FY | FZ H 77 f h ZZ the rod portion, make sure to machine a hole
50 |1001101200] 88| 6 | 30 | 76| 20 | 120 | 58144 | 67 | 241 | 19 | 66 | 240 ‘r’c‘fjt 'Z;irtger;;huan”ﬁ:‘g %‘ifcrkd:’zeéerfo‘r’f tt:]‘:
63 1001 to 1200| 105 | 10 | 40 | 92| 23 | 140 | 64 |170| 71 | 263 | 19 | 66 | 258 standard stroke and the rod boot outer
80  [1001to1400[ 124 12 [ 45 [112]| 28 | 164 | 84 [198| 87 [ 307 [ 21 | 80 | 300 diameter e for a long stroke.
100 1001 to 1500| 140 | 12 | 50 | 136 | 29 | 180 | 100 | 220 | 89 | 327 | 21 81 319
8

INFORMATION 2022-3



Fine Lock Cylinder: Double Acting, Single Rod Series CLA2

Head FIang_;e: CLA2G

Locking condition indication plate P (Rc, NPT) Rod side cylinder port

BP (Rc, NPT) Unlocking port GA BQ (Rc, NPT) Locking port for pressurizing
Unlocked when pressurized GC GD (Plug with breathing hole at exhaust locking)
- g (”;‘\ Plug cap with breathing hole
;,," , Bl 41:;‘, ; f*\_/l (For spring locking)
B \#b ( ) j 4xd
~ :4‘
E‘& ~TrEagEl PReNPT) 4xoFD
. Width across flats KA PG _|PL Head side cylinder port \ GB PW T
With rod boot Width across flats B1 : 2 x Cushion valve - El 77777 Tt '
— MM\ \ I=. = ) 1
[a] 1T L(>|> : |2 : >
8 w 1 s: i &1 - 1 oL | : 3 o el
1 E;) i ’ =1 IR [ Q
10.2 l ¢ ‘ f AL F BN N ¢
h+¢ A K B
ZZ + ¢ + Stroke H S + Stroke FT EX
ZZ + Stroke FZ
[mm]
Bore size Stroke range [mm]

[mm]  [Wihoutrod boot [With rod boot A |AL| B |(B1|[BF I BN|BPBQ|C |D | E|F |FV|FD| FT |FX|FY|FZ|GA GB|GC| GD|GL

40 Upto 500 | 20t0 500 | 30 |27 | 60|22 | 71| 96|1/4|1/4| 44|16 |32 | 10| 60| 9 |12 | 80| 42 |[100| 85| 15|26 |54 | 10
50 Upto 600 | 20t0 600 | 35 |32 | 70| 27 | 81|108|1/4|1/4|52 |20 |40 | 10| 70| 9 |12 | 90| 50 [110| 95|17 |27 | 59 | 13
63 Upto 600 | 20to 600 | 35 | 32 | 86| 27 |101|115|1/4|1/4| 64 |20 | 40| 10 | 86|11.5| 15 |105| 59 [130(102| 17 | 26 | 67 | 18
80 Up to 750 | 20to 750 | 40 | 37 |102| 32 |119|129|1/4[1/4| 78 | 25 | 52 | 14 |102|13.5| 18 [130| 76 [160|113| 21 | 30 | 72 | 23
100 Upto 750 | 20to 750 | 40 | 37 |116] 41 |133|140|1/4|1/4] 92 | 30 | 52 | 14 |116|13.5| 18 |150| 92 |180|124| 21 | 31 | 76 | 25

B‘E[ﬁ,ﬁ']ze GR|Hi| J K|KAlLY| MM | N|P|PG|PH|PL|PW| S W':'_“l"”t r°dzbé°’ T W'”Lmd b°°; =
40 10 8 | M8x 1.25 6|14 | 76.5|M14x1.5| 27 | 1/4 |42 11 | 20 | 45 |153| 51 | 216 | 43 |[11.2| 59 |1/4 stroke| 224

50 12 | 11 | M8 x 1.25 7|18 | 855 M18x1.5| 30 | 3/8 |46 10 [ 21 | 50 |168| 58 | 238 | 52 [11.2| 66 |1/4 stroke| 246

63 15| 11 IM10x1.25| 7| 18 [106.5|M18x1.5| 31 | 3/8 |48.5| 13 | 23 | 60 |182| 58 [ 255 | 52 |11.2| 66 |1/4 stroke| 263

80 17 | 13 IM12x1.75| 10 | 22 [125.5| M22x 1.5 | 37 | 1/2 |55 15 [ 23 | 70 |208| 71 | 297 | 65 [12.5| 80 |1/4 stroke| 306
100 19 | 16 [M12x1.75| 10 | 26 |139.5| M26x 1.5 | 40 | 1/2|56.5| 15 | 25 | 80 |226| 72 | 316 | 65 |14.0| 81 |1/4 stroke| 325

Single Clevis: CLA2C

P (Rc, NPT) Rod side cylinder port
BQ (Rc, NPT) Locking port for pressurizing

Locking condition indication plate
BP (Rc, NPT) Unlocking port GA

Unlocked when pressurized \| GC GD (Plug with breathing hole at exhaust locking)
= - g (@\ Plug cap with breathing hole
Q}Z /"\_/'(For spring locking)
i
Ny 4
Width across flats KA Ol P (Rc, NPT) 4:):( J
. i Head side cylinder port
With rod boot idthacross flats B1 ‘ V! . p GB 2CDh10o ‘ PW o
MM [ Eaam] 2 x Cushion valve no LTy
1 Ve é& T = - T H [@ N
3 E1 ol of R o : - 3t olw/d
f I . i
10.2 ¢ |f AL || |F BN N Y| CX
h+¢ A K C
ﬂ H S + Stroke L B
ZZ + ¢ + Stroke Z + Stroke RR
ZZ + Stroke (mm]

e WnSh;:ﬁ:;bc:;r\]/a; mjot A|AL|B |Bi1|BN|BP|BQ| C | CDio | CX | D | E|F |GA|GB|GC|GD|GL|GR| H1
40 Up to 500{20t0500| 30 | 27 | 60| 22 | 96| 1/4 | 1/4| 44 | 109 15 53 |16 |32 |10 | 85|15 |26 | 54| 10 | 10 8

50 Up to 600(20to 600 | 35 | 32 | 70| 27 |108| 1/4 | 1/4 | 52 12+507 18 51 |20 |40 |10 | 95|17 |27 |59 | 13| 12 | 11

63 Upto600(20to600| 35 | 32 | 86| 27 |115|1/4| 1/4| 64 16'3°7° 25 31 | 20| 40|10 |102| 17 |26 |67 | 18 | 15 | 11

80 Up to 750|20to 750 | 40 | 37 [102| 32 |129(1/4|1/4| 78 20*30% 3153 | 25|52 |14 |113| 21|30 |72 |23 | 17 | 13
100 Up to 750 20to 750 | 40 | 37 (116 41 |140| 1/4| 1/4| 92 259084 35593 | 30| 52|14 |124| 21|31 |76 |25| 19| 16

Bore size Without rod boot With rod boot
[mm J K |KA| L |LZ MM N| P |[PG/PH/PLIPWRR|S | U HlZl|zz| e f h ¢ 7 2z
40 M8x125| 6|14 |30 | 71|M14x15|27 |1/4|42 |11 | 20 | 45 | 10 [153| 16 | 51 | 234|244 | 43 |11.2| 59 |1/4 stroke|242| 252
50 M8x1.25| 7|18 | 35| 80| M18x1.5| 30 |3/8(46 |10 |21 |50 | 12 (168| 19 | 58 |261|273| 52 |11.2| 66 |1/4 stroke|269 | 281
63 M10x125| 7|18 | 40| 99| M18x1.5| 31 | 3/8|48.5| 13 | 23 | 60 | 16 |182| 23 | 58 |280|296| 52 | 11.2 | 66 |1/4 stroke|288 | 304
80 M12x1.75| 10 | 22 | 48 |117|M22x1.5| 37 | 1/2|55 | 15| 283 | 70 | 20 |208| 28 | 71 [327|347| 65 |12.5| 80 |1/4 stroke| 336 | 356
100 M12x1.75| 10 | 26 | 58 |131|M26x 1.5 | 40 | 1/2 |56.5| 15 | 25 | 80 | 25 |226| 36 | 72 [356|381| 65 |14.0 | 81 |1/4 stroke| 365|390

9

INFORMATION 2022-3



Series CLA2

Double Clevis: CLA2D

BP (Rc, NPT) Unlocking port

Locking conditon indication plate P’ (Rc, NPT) Rod side cylinder port

GA BQ (Rc, NPT) Locking port for pressurizing
Unlocked when pressurized \| GC GD (Plug with breathing hole at exhaust locking)
N
r{__l % =Sl \Plugcapwnh breathing hole -
RS e Y/ (For spring locking)
. (0] El W] %4
With rod boot YL ¢ 6N = 4xd
\ ]
Width across flats KA Eﬁ; =1 o (Re, NPT) RR2 T
Z + ¢+ 1/2 stroke Width across flats B1 PG |PL Head side cylmder port
MM 2 x Cushion valve
- \h —— hl l hl FTE N
8 EREH clicises: ¢ : & y
- || L[5 f - =+
102 ¢ ‘f <A_L, F BN A, Hole dia.: 9CD1o
h+¢ A K Shat dia.: 6CDus
Z2Z + ¢ + Stroke H S + Stroke L
Z + Stroke RR1
ZZ + Stroke [mm
Bore size | Stroke range [mm]
[mm] Wiout 10d boot | With rod boot A |AL| B |B1 |BN|BP|BQ| C | CD+1o CX CzZ D | E| F |GA|GB|GC|GD|GL|GR| H1
40 Up to 500|20t0 500 | 30 | 27 | 60| 22 | 96| 1/4 | 1/4 | 44 | 210%™ 15 %% (29516 |32 | 10| 85| 15|26 |54 (10| 10| 8
50 Up to 600|20t0 600 | 35 | 32 | 70| 27 (108 | 1/4 | 1/4| 52 | @12¢"" 18 %% [38 |20 |40 |10 | 95|17 |27 |59 | 13 | 12 | 11
63 Upto600|20t0600| 35 | 32 | 86| 27 |115|1/4|1/4 | 64 | 2167 25 %% |49 [ 20|40 |10 (102| 17 |26 | 67 | 18 | 15 | 11
80 Up to 750|20to 750 | 40 | 37 [102| 32 |129|1/4 | 1/4 | 78 | 2207 315453 |61 [ 25|52 |14 (113| 21 |30 |72 |23 | 17 | 13
100 Upto 750{20to 750 | 40 | 37 |116| 41 [140| 1/4 | 1/4| 92 | 225%™ 355157 |64 | 30|52 |14 (124| 21 |31 |76 |25 |19 | 16
Bore size Without rod boot With rod boot
[mm] J K| KA L LZ| MM N | P |PG|PH|PL|PW|RR1|RR2| S | U Hlzlzz e fh ¢ 7 77
40 M8x1.25| 6| 14 | 30 | 71|M14x1.5| 27 |1/4]42 | 11|20 | 45 | 10 |16 |153| 16 | 51 |234|244| 43 |11.2| 59 |1/4 stroke|242 | 252
50 M8x1.25| 7|18 | 35| 80|M18x1.5/ 30 [3/8|46 | 10|21 | 50 | 12 [19 [168| 19 | 58 |261|273| 52 |11.2| 66 |1/4 stroke|269 | 281
63 M10x1.25( 7|18 |40 | 99|M18x1.5| 31 | 3/8|48.5| 13 | 23 | 60 | 16 |23 |182| 23 | 58 |280|296| 52 |11.2]| 66 |1/4 stroke|288 | 304
80 M12x1.75| 10 | 22 | 48 |117|M22x1.5| 37 | 1/2 |55 | 15| 23 | 70 | 20 |28 |208| 28 | 71 | 327|347 | 65 |12.5| 80 |1/4 stroke|336 | 356
100 M12x1.75] 10 | 26 | 58 |131 |M26 x 1.5| 40 | 1/2 |56.5| 15 | 25 | 80 | 25 |23.5/226| 36 | 72 |356|381| 65 |14.0| 81 |1/4 stroke| 365|390
= A clevis pin, flat washers and split pins are included.
Center Trunnion: CLA2T
. - P (Rc, NPT) Rod side cylinder port
! Lock dition indication plat
BP (Rc, NPT) Unlocking port X 'ng(;?\"onm 2P /BQ (Re, NPT) Locking port for pressurizing
Unlocked when pressurized GC GD (Plug with breathing hole at exhaust locking)
0 = g (4 \Plugcap with breathing hole
a Kl j%, {f\ (For spring locking)
B ()
] %@ N jd P (Rc, NPT)
With rod boot Wit across fiais KA PG
Width across flats B1 E
Z + ¢+ 1/2 stroke MM "
N éilg N
a O|m|-
Hi1
ZZ + ¢ + Stroke S + Stroke
ZZ + Stroke
[mm]
Bore size | Stroke range [mm]
[mm] Witout 104 boot | With rod boot A |AL| B |B1 BN|IBPBQ|C |D | E| F | GA/GB|GC|GD|GL |GR| H1 J K [KA|LZ
40 25t0500|25t0500| 30 | 27 | 60| 22 | 96| 1/4|1/4| 44 |16 |32 | 10| 85| 15|26 |54 |10 | 10| 8 |[M8x1.25| 6 | 14 | 71
50 25t0600|25t0600| 35 | 32 | 70| 27 |108|1/4|[1/4| 52 |20 |40 |10 | 95|17 |27 |59 |13 |12 | 11 [M8x1.25| 7| 18 | 80
63 32t0600|32t0600| 35|32 | 86|27 |115|1/4|1/4|64 | 20 | 40 | 10 [102| 17 | 26 | 67 | 18 | 15| 11 [M10x1.25] 7 | 18 | 99
80 41t0750|41to750| 40 | 37 |102| 32 [129|1/4 |1/4| 78 | 25 | 52 | 14 [113| 21 | 30 | 72 | 23 | 17 | 13 [M12x 1.75| 10 | 22 |117
100 4510750 |45t0 750 | 40 | 37 |116| 41 |140|1/4|1/4]| 92 | 30 | 52 | 14 [124| 21 | 31 | 76 | 25 | 19 | 16 [M12x 1.75]| 10 | 26 |131
Bore size Without rod boot With rod boot
[mm] MM N | P (PG/PH|PL|PW| S TDes |TT|TX|TY|TZ Hlz zz e i h ¢ 7 122
40 M14x 15|27 |1/4 (42 | 11|20 | 45 |153| 15002 22| 85| 62|117| 51 | 162|209 | 43 [11.2| 59 | 1/4 stroke | 170 | 217
50 M18x1.5| 30 |3/8 (46 | 10 | 21 | 50 [168| 15305 22 | 95| 74(127| 58 | 181|232 | 52 |[11.2| 66 | 1/4 stroke | 189 | 240
63 M18x 1.5| 31 | 3/8 [48.5| 13 | 23 | 60 |182| 18 %02 28 [110]| 90(148| 58 | 191|246 | 52 [11.2| 66 | 1/4 stroke | 199 | 254
80 M22x1.5| 37 |1/2 (55 | 15|23 | 70 |208| 25 50 34 1140|110|192| 71 | 221 | 286 | 65 [12.5| 80 | 1/4 stroke | 230 | 295
100 M26 x 1.5 | 40 | 1/2 [56.5| 15 | 25 | 80 |226| 25 3079 40 [162]130(214| 72 | 235|306 | 65 |14.0| 81 | 1/4 stroke | 244 | 315
10

INFORMATION 2022-3



Series CLA2

Dimensions of Accessories

Y Type Double Knuckle Joint

Shaft diameter: gNDuas Split pin Material: Cast iron [mm]
Hole diameter: dNDwo . Applicable —
Flatvsher Poished o 4 o I bore size | A1 [D1|E1| L |Li| MM |[ND| NX |NZ|Ri|us| SPitpin | Flatwasher
MM T [mm] size size
— Y-04D| 40 |22|10|24|555|55| Mi4x15 |12|16:33 |38 |13|25| oax 18 | Folished
ol xiN| round 12
Z2\2
‘9 e Polished
— LEZTJ Y-05D| 50,63 |27 | 14 |28 | 55.5 |60 | M18x 1.5 12| 16333 |38 | 15|27 | @3 x 18¢ round 12
(=] a
Q
A U v-08D| 80 |37|18|36|765|71| M22x15 | 182892 |55 |19 |28 | oaxose | Dolished
L1 round 18
T B Y-10D| 100 |37|21|40|83 |83| M26x15 | 2030223 |61 |21 38| oaxszoe | FOliShed
\ round 20
\ * A knuckle pin, split pins and flat washers are included.
Clevis Pin/Knuckle Pin
Material: Carbon steel [mm]
2 x od ) Applicable bore size d Included Included
x .8 Patno Clevis | Knuoke | 002 oo = | ¢ | ™ | spitpin | flatwasher
1 CDP-2A 40 — 1025522 3 46 38 4 @3 x 18 ¢ | Polished round 10
T T CDP-3A | 50 |[40,50,63| 122259 3 555 | 475 | 4 | 03x18¢ | Polshedround 12
CDP-4A 63 — 1620953 4 71 61 5 @4 x 25 ¢ | Polished round 16
m ¢ CDP-5A — 80 182359 4 765 | 665 5 @4 x 25 ¢ | Polished round 18
L CDP-6A 80 100 20093 4 83 73 5 24 x 30 ¢ | Polished round 20
CDP-7A | 100 — 252375 4 88 78 5 @4 x 36 ¢ | Polished round 24
* Split pins and flat washers are included.
| Type Single Knuckle Joint Rod End Nut (Standard)
-
MM @NDui1o 300‘
45"}\80 d
i } f
) NG /
7 N = | | - o
Q
A1 U1
L1
A H|_ B
Material: Free cutting sulfur steel [mm] Material: Rolled steel [mm]
part |Applicable Applicable
boresize | A |Ai1|E1| L1 MM NDH1o | NX | R1 | U1 Partno. | bore size B (o D d H
e, [mm] [mm]
1-04A| 40 69 (22|24 (55| M14x 15| 12°3°° | 1604 [15.5| 20 NT-04 40 22 25.4 21 M14x1.5 8
1-05A| 50,63 | 74|27 28|60 | M18x1.5 | 12:°° | 1654 [15.5| 20 NT-05 50, 63 27 31.2 26 M18x 1.5 11
3 k4
I-08A| 80 91(837 (36|71 | M22x1.5 | 189°° | 28731 |22.5| 26 NT-08 80 32 37.0 31 M22 x 1.5 13
I-10A| 100 |105|37|40|83|M26x1.5 | 20°3%" | 30005 |24.5| 28 NT-10 100 41 47.3 39 M26 x 1.5 16
11

INFORMATION 2022-3



Series CLA2

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Band mounting> <Tie-rod mounting>
D-B5(1/B64 D-M9oC1/M9C1V D-Z711/280
D-B59W D-MOCOW/M9IWV D-Y5901/Y691/Y7P/Y7PV
D-M9CJA/M9LJAV D-Y7OW/Y70OWV
D-A901/A901V D-Y7BA
Auto switch ~Hs Auto switch

—— T
- ——\ ﬁ@i Ry © R i == I
] 7 (ﬁlﬁw o _ < ' m .| ﬁ I
4 Tl g Y £ﬂ~ =
Allss|® B Al B
D-A30 G1/2 D-A500/A60 D-A59W
D-G39/K39 (Applicable cable 0.D.: 96.8 to 29.6) Auto switch
49 -=Hs _ T ==
- T I Ak ]
T s T Y | =l
, B A1\ A||33 B,|

== S == 15
A || 38 \7'3 D-A3C0C D-G39C/K39C
Auto switch G1/2

D-G50/K59

(Applicable cable O.D.: ©6.8 to ©9.6) Auto switch
D-G5CW/K59W A_ 49 [B/ B
D-G5BA IR A/
D-G59F/G5NT M = HE LJJ
—— =

Auto switch =~ Hs

il
b | o

D)

36

i\

Zu
/ ‘x\‘n’ %
Y/

©

D-F500/J59 D-F500W/J59W
D-F5NT D-F5BA/F59F

Auto switch
G1/2 1 ,%3,
(Applicable cable O.D.: 6.8 to 11.5) - %
30
31.5 A_|(33) B
- % EE s # ( ): For D-F5LF
o-—jHH *E 3 D-A44C
o — % 2B Gif2 Ao suitch
A_||_36 (Applicable cable O.D.: 26.8 to o11.5) uto switc

A_ 495

Auto switch

|
1] ]

A_ Auto switch
f s
% " T
; | u
-
:ﬁ I
= == Yy
20|| B
D-P4DW Auto switch ~ Hs

8

a [=]

a A

g
=

%
|

,

ra
X

~Ht = Ht

18

INFORMATION 2022-3



Fine Lock Cylinder: Double Acting Series CLA2

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position [mm]
Auto switch D-B59W D-A50] D-G501
model D-M9oC] D-Z70] D-A60] D-F501
D-MoCIV D-280 D-A3C] p-Js9 | DKS9
D-MOCW | D-A9T | Divees DAsaC | p-B50 | D-FsoF | D-GSNT
3 5 D-Y69[] g N D-A44 a H v . g
D-MOCWV | D-A9CV | D-Y7P D-P3DWA | D-PADW | "ac D-B64 D-F500W D-G500W | D-A59W | D-F5NT
D-M9CA D-Y7PV D-G39 D-J59W D-K59W
D-Y7OW D-G39C - D-G5BA
D-M9CIAV D-Y7OWV D-K39 D-F5BA
Bore D-Y7BA D-K39C D-GS9F
size A B A B A B A B A B A B A B A B A B A B A B
40 10 8 6 4 4 1 55| 35| 35|05 |05 |0 1 0 7 4 |25 |0 45| 15|12 9
50 10 8 6 4 35| 15| 55| 35| 3 1 0 0 05 |0 65| 45| 2 0 4 2 |115]| 95
63 125|115| 85| 75| 6 5 8 7 55|45 |25 |15 | 3 2 9 8 |45 |35 | 65| 55|14 |13
80 16 |14 |12 |10 95| 75|115| 95| 9 7 6 4 65 | 45 | 125|105 8 6 10 8 |175]| 155
100 17.5| 16.5| 135 | 125 | 11 10 |13 |12 |105| 95 |75 |65 | 8 7 14 |13 95 | 85 | 115|105|19 |18
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.
Auto Switch Proper Mounting Height [mm]
Auto switch D-B5C]
model D-Z70] D-B64
H o D-B59W
D ooy |D-M9CV Do | p-veer D-G50 | D-A3D D-A50]
D-M9LIA D-M9CIWV| D-A9CIV D-Y7P D-Y7PV |D-P3DWA | D-P4DW B:gg?\lT D-G39 D-A44 D-A60]
D-A9C] D-M9IAV D-Y7BA D-Y7OOWV B:Egs?v\\‘v D-K39 D-A59W
D-Y7OW D-G5BA
Bore D-G59F
size Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht Hs Hs Hs Hs | Ht
40 30 30 |34 30 | 31 30 |30 |30 |30 |30 |[375| 35 | 42533 37 715 81.5 385|315
50 34 34 |38 34 |35 34 |34 |34 |34 |34 |415| 39 | 465|375 42 76.5 86.5 42 | 355
63 41 41 | 44 41 | 415 41 |41 |41 |41 |41 |50 41 |52 |43 49 83.5 93.5 46.5 | 43
80 495 | 49 | 525| 49 |50 49 | 495 |49 | 49549 |58 49 | 585 | 51.5 57.5 92 102 53.5 | 51
100 56.5| 56 | 61 56 | 58.5| 56 | 56.5|55.5|57.5| 555 |66 56 | 66 | 585 68 102.5 112.5 61.5| 57.5
Auto switch| p-F5
model| p. J59
D-F500W | D-A3CIC
D-J59W | D-G39C D-A44C
D-F5BA | D-K39C
D-F59F
D-F5NT
Bore
size Hs | Ht | Hs | Hw | Hs | Hw
40 38 |315| 73 69 | 81 69
50 42 | 355 | 785| 77 | 86.5| 77
63 47 | 43 85.5| 91 | 935 91
80 53.5 | 51 94 | 107 |102 | 107
100 61 | 575|104 | 121 [112 | 121
19

INFORMATION 2022-3



Series CLA2

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches [mm]

Auto switch Number of Brackets other than Center trunnion
model auto switches center trunnion 240 [ 250 263 280 2100
2 (Different surfaces,
D-MoC] same surface), 1 15 80 95 110 118
D-MoCIW n-2) n—4) n—4! n—4[ (n—-4
D-M9CIA n 15 + 40+ 80 +40°— 95 + 40 110 + 40 115 + 40—
(n=2,4,6, 8- Note 1) (n=4,8,12,16...)Note2) (n=4,8,12,16-- )Nme2 (n=4,8,12,16-- )Note2 (n=4,8,12,16--) Note 2)
2 (Different surfaces,
D-MoC1V same surface), 1 10 80 95 110 118
D-M9CIWV _ _ _ _ _
D-MOLIAV | 10+300152 80+30 14 95+3005% | 110430054 | 415430054
(n=2,4,6,8.-)Note 1) (n=4,8,12,16...)Note2) (n=4,8,12,16-) Note 2)| (n = 4,8, 12, 16---) Note 2)| (n = 4, 8, 12, 16...) Note 2)
2 (Different surfaces, 15 75 90 100 110
same surface), 1
D-A90] _ _ _ _ _
| 15 + 400152 75+ 400054 90+4005% | 100440054 | 110440052
(n=2,4,6,8.-)Note 1) (n=4,8,12,16-..)Note2) (n=4,8,12,16-) Note 2)| (n = 4,8, 12, 16---) Note 2)| (n = 4, 8, 12, 16...) Note 2)
2 (Different surfaces, 10 75 90 100 110
same surface), 1
D-A9C1V _ _ _ _ _
| 10+300152 75+30005% 90+3005% | 100430054 | 110430052
(n=2,4,6,8.-)Note 1) (n=4,8,12,16...)Note2) (n=4,8,12,16-) Note 2)| (n= 4,8, 12, 16---) Note 2)|(n = 4, 8, 12, 16...) Note 2)
D-A5C/A60 |2 (D'r:eremﬁs”";"cfs' 15 90 100 110 120
D-F501/J59 Same surace),
D-F50W/J59W 15+ 55122 90 + 5504 100455052 | 1104560548 | 120455054
D-F5BA/F59F n (Same surface) 2 2 2
(n=2,4,6,8.-)Note 1) (n=4,8,12,16...)Note2) (n=4,8,12,16-) Note 2)| (n = 4,8, 12, 16---) Note 2)| (n = 4, 8, 12, 16...) Note 2)
2 (Different surfaces, 20 90 100 110 120
same surface)
D-A59W  (Same surface) | 20+ 5552 90 + 55054 100 +5505% | 110455052 | 1204 5505%
(n=2,4,6,8- )Noteﬂ (n=4,8,12,16...) Note2) (n=4,8,12,16-) Note 2)| (n = 4,8, 12, 16---) Note 2)|(n = 4, 8, 12, 16...) Note 2)
1 15 90 100 110 120
2 (Different surfaces, 25 110 120 130 140
same surface), 1
D-F5NT _ _ _ _
 (Same surface) | 25+ 55072 110+ 55054 120455054 | 130455058 | 1404550054
(n=2,4,6,8- )Notew (n=4,8,12,16...)Note?) (n=4,8,12,16--) Note 2| (n= 4,8, 12, 16--.) Note 2| (n = 4, 8, 12, 16...) Note )
Diff t surf 1
D-BSL/BEA |2 oo e > % 100 110
D-G501/K59 ame surface 75
D-G5CIW Different 15+ 50122 90 + 50054 100 + 50054 110+ 50054
D-K59W n surfaces (nN=2,4,6,8, - )Note 1) (n=4,8,12,16, ---)Note2) (n=4,8,12,16, - Note 2) (n=4,8,12, 16...) Note2)
B-gggll;\ Same surface 75+50(n-2) 90 +50 (n-2) 100 + 50 (n-2) 110 +50 (n-2)
D-G5NT (n=2,3,4,-) (n=2,4,6,8,--)Note ?) (n=2,4,6,8, ) Note 1) (n=2,4,6,8,--)Note )
1 10 90 100 110
Different surfaces 20
2 90 100 110
Same surface 75
Different 20+ 50152 90 + 5054 100 + 50152 110 + 50152
D-B59W n surfaces (n=2,4,6,8, - )Note 1) (n=4,8,12,16, ---)Note2) (n=4,8,12,16, ) Note 2) (n=4,8,12,16, ---)Note2)
same surface | 75 +50(=2) 90 + 50 (n—2) 100 + 50 (N —2) 110 + 50 (n - 2)
(n=2,3,4, ) (n=2,4,6,8,)Note1) (n=2,4,6,8, ) Note 1) (n=2,4,6,8,)Note )
1 15 90 100 110
Different surfaces 35
2 100 100 110
Same surface 100
D-A30 Different 35+30(n-2) 100 + 30 (n - 2) 100 + 30 (n - 2) 110+ 30 (n - 2)
D-G39 o | surfaces (n=2,3,4, ) (n=2,4,6,8, -)Note 1) (n=2,4,6,8, ) Note ) (n=2,4,6,8, -)Note 1)
D-K39 same surface | 100+ 100 (1-2) 100 + 100 (n - 2) 100 + 100 (n — 2) 110 + 100 (n - 2)
(n=2,84,-) (n=2,4,6,8, --)Note ) (n=2,4,6,8,-~)Note D (n=2,4,6,8, --)Note )
1 10 100 100 110
Different surfaces 35
2 1 1 11
Same surface 55 00 00 0
Different 35+30 (n—2) 100 + 30 (N —2) 100 + 30 (N —2) 110+ 30 (n-2)
D-A44 . surfaces (n=2,3,4,-) (n=2,4,6,8,--)Note) (n=2,4,6,8, ;) Note 1) (n=2,4,6,8,--)Note)
Same surface 55+50(n—-2 100 + 50 (n—2) 100 + 50 (n—2) 110+ 50 (n—-2)
n=2,3,4,-) (n=2,4,6,8,--)Note ) (n=2,4,6,8, ) Note 1) (n=2,4,6,8,--)Note )
1 10 100 100 110

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

20

INFORMATION 2022-3




Fine Lock Cylinder: Double Acting Series CLA2

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches [mm]

(nN=2,4,6,8.)Note )

(n=4,8,12,16...)Note 2)

(n=4,8,12, 16-..) Note 2)

Auto switch Number of Brackets other than Center trunnion
model auto switches center trunnion 240 [ 250 263 280 [ 2100
Different surfaces 20
2 100 100 120
Same surface 100
D-A3CIC Different 20+35(n-2) 100 + 35 (n—2) 100 + 35 (n—-2) 120+ 35 (n-2)
D-G39C surfaces (n=2,3,4,-) (n=2,4,6,8,---)Note 1) (n=2,4,6,8, ) Note 1) (n=2,4,6,8,---)Note 1)
n
D-K39C Same surface | 100+ 100 (1—2) 100 + 100 (n —2) 100 + 100 (n —2) 120 + 100 (n —2)
(n=2,8,4,5") (n=2,4,6,8, --)Note ) (n=2,4,6,8, ) Note D (n=2,4,6,8, --)Note D)
1 10 100 100 120
Different surfaces 20
2 1 1 12
Same surface 55 00 00 0
Different 20+35(n-2) 100 + 35 (n—2) 100 +35 (n—2) 120 +35(n—-2)
D-A44C surfaces (n=2,34,-) (n=2,4,6,8, --)Note D) (n=2,4,6,8,-)Note ) (n=2,4,6,8,-.)Note )
n
Same surface | 23 +50(M-2) 100 + 50 (n — 2) 100 + 50 (n — 2) 120 + 50 (n - 2)
(n=2,3,4,-) (n=2,4,6,8, ---)Note ) (1=2,4,6,8, ) Note 1) (n=2,4,6,8, ---)Note )
1 10 100 100 120
2 (Different surfaces,
D-Z701/280 same surface), 1 15 80 85 90 9% 105
D-Y5901/Y7P _ _ _ _ _ _
D-Y7LIW . 15+40052 | 8014005 | 8544005 | 0044005 | 9544005% | 105440052
(n=2,4,6,8-)Note | (1=4,8,12, 16 Note D) | (1=4,8, 12,16 Note 2) | (n=4,8, 12, 16--) Note 2) | (n=4, 8,12, 16.-) Nete 2) | (n= 4,8, 12, 16---) Note 2
2 (D:f]erentrfsuﬂac?s, 10 65 75 80 2
D-Y69[1/Y7PY | Same surface)
D-Y7OWV . 10+30072 65+ 305 75+3005% 80 + 30052 90 + 30052
(n=2,4,6,8.)Note 1) (n=4,8,12,16...)Note 2) (n=4,8,12,16.-) Note 2) | (n=4,8, 12, 16--) Note D) | (n =4, 8, 12, 16...) Note 2)
2 (Different surfaces, 20 95 100 105 110
same surface), 1
D-Y7BA _ _ _ _ _
. 20 + 45052 95 + 45024 100+4585% | 105445054 | 11044505
(n=2,4,6,8.)Note 1) (n=4,8,12,16...)Note 2) (n=4,8,12,16.) Note 2) | (n=4,8, 12, 16--) Note D) | (n =4, 8, 12, 16...) Note 2)
2 (Different surfaces, 15 85 95 100
same surface), 1
D-P3DWA _ — _ _
. 15+ 50052 85+ 50154 95+5005% | 10045005
(n=2,4,6,8.)Note 1) (n=4,8,12, 16...) Note 2) (n=4,8,12,16--) Note 2) | (n=4, 8, 12, 16...) Note 2
2 (Different surfaces, 15 120 130 140
same surface), 1
D-P4DW _ _ _ _
. 15+ 6502 120 + 65054 130 + 65154 140 + 65054

(n=4,8,12, 16...)Note 2)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

INFORMATION 2022-3

21




Series CLA2

Operating Range

[mm]
Auto switch model Bore size Auto switch model Bore size

40 | 50 | 63 | 80 | 100 40 | 50 | 63 | 80 | 100
D-M9CI/M9IV D-F501/J59/F59F
D-M9CIW/M9IWV 45| 5 55| 5 6 D-F5C1W/J59W 4 4 45| 45| 45
D-M9TJA/MOLIAV D-F5BA/F5NT
D-A9L/A9CIV 75| 85| 95| 95| 105 D-G51/K59/G59F
D-Z701/Z280 85| 75| 95| 95| 105 D-G50W/K59W 5 6 65| 65| 7
D-A3[1/A44 D-G5NT/G5BA
D-A3[CIC/A44C 9 10 1" 1" 1" D-G5NB 35 35 40 40 40
D-A5C1/A60] D-G39/K39 9 9 10 10 1
D-B5C1/B64 D-G39C/K39C
D-A59W 13 13 14 14 15 D-P3DWA 45| 45| 55| 55| 55
D-B59W 14 14 17 16 18 D-P4DW 4 4 45| 4 4.5
D-Y5901/Y691 * Values which include hysteresis are for guideline purposes
D-Y7P/Y7CIV only, they are not a guarantee (assuming approximately
D-Y7OW/Y7OOWV 8 7 5.5 6.5 6.5 +30% dispgrsion) a}nd may change substantially depending
D-Y7BA on the ambient environment.

Auto Switch Mounting Brackets/Part No.

<Tie-rod mounting>

Auto switch model

Bore size [mm]

240

250

263 280

2100

D-M9C/M9OCIV
D-MOCIW/M9IWV
D-M9TIA/M9IAV
D-A9C/A9CIV

BA7-040

BA7-040

BA7-063 | BA7-080

BA7-080

D-A5C/A600/A59W
D-F501/J59/F500W/J59W
D-F5NT/F5BA/F59F

BT-04

BT-04

BT-06 BT-08

BT-08

D-A3[1C/A44C/G39C/K39C

BA3-040

BA3-050

BA3-063 | BA3-080

BA3-100

D-Z701/Z80
D-Y5901/Y6901
D-Y7P/Y7PV
D-Y7OW/Y7OWV
D-Y7BA

BA4-040

BA4-040

BA4-063 | BA4-080

BA4-080

D-P3DWA

BK7-040S

BK7-040S

BA10-063S | BA10-080S

BA10-080S

D-P4DW

BAP2-040

BAP2-040

BAP2-063 | BAP2-080

BAP2-080

<Band mounting>

Auto switch model

Bore size [mm]

40

50

63 80

100

D-A300/A44
D-G39/K39

BDS-04M

BDS-05M

BMB1-063 | BMB1-080

BMB1-100

D-B5C1/B64
D-B59W
D-G501/K59
D-G5C]W/K59W
D-G59F
D-G5NT
D-G5NB

BH2-040

BA5-050

BAF-06 BAF-08

BAF-10

* Auto switch brackets are included in the D-A30JC/A44C/G39C/K39C types. Specify the part number as
follows depending on the cylinder size when ordering.
(Example) 940: D-A3JC-4, 950: D-A30JC-5

©63: D-A30C-6, 280: D-A30IC-8, 3100: D-A3CIC-10
To order the auto switch mounting bracket separately, use the part number as shown above.

[Stainless Steel Mounting Screw]
The following stainless steel mounting screw kit (including set screws) is also available. Use it in accordance with the operating environment.
(Since the mounting bracket and band are not included, order them separately.)

BBA1: D-A5/A6/F5/J5 types
BBA3: D-B5/B6/G5/K5 types

* The figure shows the mounting example for the
D-A90I(V)/M9I(V)/MOTIW(V)/MITIA(V) types.

The above stainless steel screws are used when a cylinder is shipped with D-F5BA or G5BA auto switches. When only an auto switch is shipped independently, the

BBA1 or BBA3 is attached.

Note 1) Refer to the Best Pneumatics No. 2 for details on the BBA1 and BBA3.
Note 2) When using the D-M9CJA, D-M9JAV or Y7BA, do not use the steel set screws which are included with the above auto switch mounting brackets (BA7-0J0,
BA4-0J00). Order a stainless steel screw kit (BBA1) separately, and use the M4 x 6 L stainless steel set screws included in the BBA1.

22

INFORMATION 2022-3



Fine Lock Cylinder: Double Acting Series CLA2

= = m mm mm mm mm mm Em Em Em Em Em Em Em Em R R RE Em EE R M RN RN EE Em R A RN RE Em B R A Em Em Em Em Em A

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.

Refer to the Best Pneumatics No. 3 for the detailed specifications.

Type Model Electrical entry Features
D-A93V, A96V . —
Grommet (Perpendicular) - — -
Reed D-A90V Without indicator light
eel
D-A53, A56, B53, 7273, Z76 . —
Grommet (In-line) - — -
D-A67, Z80 Without indicator light
D-M9NV, M9PV, M9BV
D-Y69A, Y69B, Y7PV
D-MONWV, MOPWV, MO9BWV Grommet (Perpendicular) Diagnostic indication
D-Y7NWV, Y7PWV, Y7BWV (2-color indication)
D-M9NAV, M9PAV, MOBAV Water resistant (2-color indication)
i D-Y59A, Y59B, Y7P
Solid state —

D-F59, F5P, J59

D-Y7NW, Y7PW, Y7BW

D-F59W, F5PW, J59W

Grommet (In-line)

D-F5BA, Y7BA

D-F5NT, GENT

D-P4DW, P5DW

Diagnostic indication
(2-color indication)

Water resistant (2-color indication)

With timer

Magnetic field resistant (2-color indication)

= With pre-wired connector is also available for solid state auto switches. For details, refer to the Best Pneumatics No. 3.

* Normally closed (NC = b contact) solid state auto switches (D-M9LJE(V)/Y7G/Y7H) are also available. For details, refer to the Best

L Pneumatics No. 3.

23 ®

INFORMATION 2022-3





